|
|
|
|

( 8.FE.A.2

X2 = XX W =XeX =X Y50 =7 «5¢5 = 52
62= 696 =36 VA =77 =7 V300 =v2+2+3¢5+5
152 = 15«15 = 225 V400 =207 = 20 = 2¢5Y3
= 1043
Find the indicated squares.
2 2 2 ]
1. 11 2.8 3. 4 4. (3
5 1.12 6. 12 7. 5 8. &
2
oL 2% 10. 1.22 1; = 12. (3
Find the indicated square roots.
13. V4 14. /81 15. {/TO0 16. 64
17 5(121 18. V25 19. V9 20. 49
21. 16 22. 142 234/ 24, 24—5

Simplify each of the following. Circle the answer in each row of problems that does not
belong. Write the corresponding letter above the problem number below.

2¢/50
445
V450
21/60

25. N 200 L 4y50 S
96, T w720 A 1260 Q
77. B 10445 M 350 P
28. @ 4180 A 3y20 E
29. U 232 D 96 W
30. C 318 E 216 R
AV istruly

27 26 29 28 30 26 25
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Name ( 8SGR7 )

""W'The Pyihagorean Theorem

f 2 2 2 \
For any right A F+d2=c
02+b2—c2 L 9+ 16 =¢?
(Pythagorean 3 25=c"

Theorem) 5=¢C
A
3. 4,
N wg X 25 X 4
]
7
= ¥ = B i
7. 8, e
5
. 17
-
3
X = X =
1% 12
T x x
3 . -
i i
5

X = % = Xo= X.=

13. To go from Dukeville to Karlton, you can travel along the two main highways or the
direct route along Valley Road.

Karlton

Dukeville
Valley Road

a. How long is the highway route?

b. How long is the Valley Road route?

c. How many miles do you save by taking the direct route?

Dellosa = CD-704387
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The area of a right friangle is half the product of the legs.

3

1
= @

A = 6 Square units

Find the areas of the right friangles below

2
e

Nl—\

A

=i

Pythagorean Theorem

64+ 8=
36 + 64 = C?
160 =x?
10=0

and the missing side

EAN
i

AN
/4

EA
a0

234

Eh
EN

Cross ou’r the correct answers eoch time they appear below. Use the remoming letters to

complete the statement.

28
P

24
S

15

10v3
i

310
U

Q0

24
R

> O

12
E

Q
a5

20

26
R

¢
2,13
M

co

45

49
T

5
G
7
R

15
T

®)
4
I

120
P

10
E

(%]
r""O\r'ﬂO\IOO

D%}Om;
Sl

N
2415
S

m

Sets of numbers like 3, 4, 5and 5, 12, 13 are called

Why is this term appropriate?
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Name

¢

8.G.B.7

Isosceles Right Triangle

450 60°

avy2 B

30-60-90 Triangle

30°

o y
] 45 3

45° 30°

k 4

~ X
.
N W

5

Find the missing sides.
1. 2 =,

45°

542

N
3
4I I_‘\ 5. 6

1.

30°
443

a5°

|

308

45°

H

10.

450 450

=

60°

45°

e}

60°

60°
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Name ( sSCR7 )

nght Trlangle Challenge

£ )
Isosceles Right Triangle 30 - 60 - 90 Triangle
a=3+3
b 4 \/_ H=2%3 =6

% 2
Find the missing sides.

2, 3. O

3v2
5 6.

22
43 30°

11 12.

ZavY
D

30°

12

Cross out the correct answers. The remaining letters (one per space) complete the
statement.

5 Q 62 3 10 32 3 443 | 342 12 22
EQ HA UA LT LE o1 HE SQ UA RE RO

643 | 53 25 3V3 | 63 S 20 3 33 36 2
oT1 OF TH ER AD U EH 5L FT YP PY

it 4 16 6 8 32 52 2 7 83 | 242
o7 TH EN AG OR uS AS TH E 1.

In a 30-60 degrees right triangle, the side opposite the 30-degree angle is

© Carson-Dellosa * CD-704387 35



Name ( 86A28GA5 )

Pa“s ofc ongruenf Tr|qng|es

A H L8 < AABC = AFED.
Corresponding sides are =.
Corresponding angles are =.

Tl

N w
1. a. Which angle is congruent to: T Y
AUs ST Ve
" b. Which side is congruent fo:
m = T ull W E e WE_
c. Write one correct congruence statement.

2. a. Which angle is congruent to:
LA = 2B = b v
b. Which side is congruent fo:
E = E = @—E_
c. Write one correct congruence statement.

Complete each congruence:

AHGlI = A
AJKL =A
ANGH =A__
SR e

>
~
I
>
6 ¢ o g

MM =X
ATMA=A_
AMAT =A
ATAM =&

0 060 0 Q0

34 © Carson-Dellosa » CD-704387



State whether the following appear to be frue or false.

p R
5. a. APUT = ARAZ d. ATPU = ARZA
b. ATUP = ARZA e. AUPT = AARZ
c. APTU = AARZ f. ATUP =AZAR L y 4 .

A
6. a. AABC = AXYZ d. AABC = AZYX z
b, AACB = AYXZ e. ABCA = AYXz /‘

c. ACAB = AZXY f. ABAC = AYXZ . - Y

AB is included by ZA and £B.
ZC is included by BC and AC.

In ACMH name the angle included by each pair of sides.
/. CM and HM 8. CH ondg MG @. CH and HM

In ACMH name the side included by each pair of angles.
10. £C.and £ M 11 e H Q] £1C 12. /M and £H

In ABFX name the angle included by each pair of sides.
13. BF and XF 14. BF and BX 15. FX and XB

In ABFX name the side included by each pair of angles.
16, LBand £F 17. 2ZBand £X 18. X and £F

B F
19. If AABC = ADEF, name the three pairs of corresponding sides and the three pairs of
corresponding angles.

20. If AABC = AXYZ, name the three pairs of corresponding sides and the three pairs of
corresponding angles.
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( 8GA28GA5 )

HL—Hypotenuse, Leg
The hypotenuse and a leg of one right

triangle are congruent to the corresponding
parts of another triangle — =

s.

State whether these pairs of triangles are congruent by HL. If not, write N.

¢ 4 o %& /\/<\
4. 5. i i 6. \\ |
I -
7, 8. \ 9. \‘\
]
N
ki / Ly
]
10. 1% = Yaials 1
] N
.
>i§8<: R B e e R R R R R s P ey S bie s Psnde G Fets © CQr;Son-De“'OSO . CD77OLV1387



Isosceles Triangle Properti

C

If 2 sides of a friangle are =,
the angles opposite them are =. 54° X

If 2 angles of a friangle are =,
the sides opposite them are =.

5 1. f1he e £22:= 65°, M 23 =

2. Ifthem 21 =106°, m £3 =

<2 S\4 y, 3. kthe o £1 .= 109°, m £5=

A Hihem 25 =42°, m 22 = SR s

b Fihemz4 = 121.5° m L3= TS S

8 lihem£2=%°,. m £4 =

10. Kibe m 45 =27 i £ 2=

1L
12.
13.

14,
15.

S bthemzd=y ms2=__

6. Ifthem 21 =120°, m £3 = $0 1.0 e
7. fthem 23 =5855%1M 21 = = H £0=

‘m2o =

T 20

2 =

Name the correct sides to make the statements.

If £1= 24,

[

Iif /12 = /3, =

If il 21 = 27° and Wi 24 = 27°,

IR

Name 3 pairs of congruent segments.
IfMLQWV =75°m Q=




/_ B

E

é f . AABC ~ ADEF

A b ¢ D e F

Corresponding angles are =, LA=4D, £LB=/LE, LC=/LF

If m £A = 35°and m ZF = 70°, .find the remaining angles.
11 2D = 357, 11 £C = 708 M ZB: = #5°, m Lk = 15",

Corresponding sides are in proportion, =2 =2¢
fa=5¢=9f=18findd. 2=g 9d=90 d=10

fe=24,fndb. Z=2 18b=216 b=12

N

The triangles are similar as they appear. Find the measure of angles 1-23.
1= 12=

2 = T =

3 = 14 =

? = 15 =
61° 5= 16 =

0O = 17=

622

{= 18 =

o= 192 =

_|14 15 17 i Q= 20 =

-|O: 21:

21
11 = 22 =

190>

23 =
20 N

38 © Carson-Dellosa » CD-704387




More S|m|Ic|r Trlangles

Find the lengths of sides a-f.

(o 4 6
12 @) = d:
a 75 —— T
7 8 " THa & . 3
8 18 9 b= &=
10
d &= f

b
Find each missing measure. The friangles are similar as they appear.

s
W
nearby casts a shadow 8 feet long. If the person is 6 feet /// p
tall, how tall is the flagpole? i et '
gp ¥ a I 6
27! 8

4. Christopher wants to reduce a friangular patftern with sides 16, 16, and 20 centimeters.
If the longest side of the new pattern is to be 15 centimeters, how long should the other
2 sides be?

- 5. A9 foot ladder leans against a building 7 feet above the ground. At what height
would a 15 foot ladder touch the building if both ladders form the same angle with the
ground?

6. Aflagpole casts a shadow 24 feet long. A flower standing nearby casts a shadow 3
feet long. If the flagpole is 12 feet tall, how tall is the flower?

}I 3. Aflagpole casts a shadow 27 feet long. A person standing ' 3

|

%

\

\

\

\

\

|

1

7. Sam wants fo enlarge a friangle with sides 3, 6, and 6 inches. If the shortest side of the
‘ new friangle is 13 inches, how long will the other two sides be?

‘ 8. A 6 foot ladder leans against a building 4 feet above the ground. At what height

‘ would a 15 foot ladder touch the building if both ladders form the same angle with the
ground?
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Name

Idenhfymg Slmllar Trlangles

AA -- Angle, Angle

2 angles of one triangle = to 2 angles of another.

Find the missing angle measures. Then, tell whether the triangles are similar by the AA

Property.
X =+ 78 + 36 = 180
X= 006"
= /o
36° Tricngles I e by AA.
L. 47° 2, 3
78°
e
X X
Note: Vertical angles are =
5. # i 6
66°
48° y
30° 66°
Y 1212 ZN\ s o
m£KJV = 59°
7 8. /\ 9. B
38° / blc
G
43° 58°\ /b 58° A
B a 52°
- 35%
10.
D
(7 m/ABC = mzBCD = 90°

m/CDA = m/ZDAB = Q0°
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Name C 8C AL )

 Perimeter and Similar Triangles

The perimeter of a triangle is the distance around the
outside. Bl 60 P=7+12+13
e P=18 P=232

i 12

6

6 13

In similar triangles, the ratio of the perimeter is equal
to the ratio of any pair of sides.

19.5

7.5

S "

| Find the perimeter.

|
||i
|

1. P= 2. P= 15 g, 18

For each pair of similar triangles, find the ratio of the perimeter of the large figure to the
perimeter of the smaller.

7.

e il

© Carson-Dellosa ¢ CD-704387 U]




| Name ( 7 GAD )

CA fractal is a self-similar object; that is, part of the object looks like the whole cbject. ]

Below is the first stage of a fractal called the Sierpinski Triangle. It is created by dividing a
friangle info four congruent triangles and shading the center triangle.

Stage 2: Connect the midpoints of the sides of each of the three unshaded triangles.
Shade the center triangle of each section.

Stage 3: Repeat the steps of Stage 2 for each of the unshaded triangles.

Stage 4: Repeat the steps of Stage 2 for each of the unshaded friangles.

How does the number of unshaded triangles change from step fo step?




Name,

Work with a partner. Use a ruler and a number cube.

—t

&

. Mark any point in the triangle. That mark is the starting point.

Roll the number cube. For a roll of: 1 or 2, use vertex A

3 or 4, use vertex B

5 or 6, use vertex C
Mark the point halfway between the starting point and the vertex from step 2.
Repeat step 2. Mark the point halfway between the point marked in step 3 and the
vertex determined by rolling the number cube.

, Repeat the process approximately 100 times: roll the number cube, mark the point

halfway between the last marked point and the appropriate vertex.
Describe the resulting pattemn.

© Carson-Dellosa « CD-704387 U3



Name ( GRS )

a N
Parallel (11) lines do not infersect.

(¢« symbol denotes 1l lines) B

Perpendicular (L) lines intersect T

fo form right angles. Iy
d

(T1symbol denotes L lines) kel
i A
Complete. :
IR e < A N M
2 OMll.. .. ZR O

Tell whether each pair of segments or rays is parallel, perpendicular, or neither.

N 5 QSandTV
U o= P L=m LN
R =4 5 > 6. QP and RQ
7. RTand TV
8. TU and VT
9. QRand TV
V .S | B s
B o 10. RU and QP
11. AC and DE
13. CFond AC o A B/,\ c .
14. CF and AD r: E
15. DF and AD P 4
16. BD and BC X ;
17. DF and EC = Vi AE F >
2 / Y

18. BC and AD
19. CE and DB
20. Eﬁondﬁ

© Carson-Dellosa ¢ CD-704387
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